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SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
= 9,500
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N EIEWEP RIS 73,350 57,420 15,930
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2 18,333
101 Q1248 69,930 54,000 15,930
= 34,965
= 17,482
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04 JAR22RE 24 69,930 54,000 15,930
O ZOHQl SXYX2l 121yl
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O XASAIBOIUOIE O12H  32,342,0008 32,342
= 16, 171
= 16,171
O MRAZA ACIHOIH EX2 2,694,000 2,604
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= 6,900
= 13,014
201 Lyt Y] 4,580 4,600 A20
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O S22l 458,000& *10& 4,580
& 1,380
= 3,200
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O JIZE=ZHZ NS 11,284,167,0008 *14] 11,284,167
= 10,155,750
= 225,143
2 903,274
e -2 111,600 111,600 0
301 YuHB A 111,600 111,600 0
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301 LB A 54,000 54,000 0
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2 7,400
401 Al 2612 S 0| 10,500 0 10,500
= 3,100
2 7,400
01 Al &bl 10,500 0 10,500
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A F=RSX L
g Lol =X 58
el LOl=XAlE 2K CERT
M- B C (B H) - NEAIY - BHA2 Al OH &EIE Hn=2
= Tl (2 ° . = (L] 04”:"% Lsa
O Z2Y ois=ZHI| &XXNA
150,000& *707H & 10,500
L= 3,100
= 7,400
2 HAEIAS 78,800 78,200 600
307 2I2toI A 78,800 78,200 600
05 QIZtRE 2 78,800 78,200 600
O A=Y BawoAY U
50,0003 * 43| * 39404 A 78,800
dA2Y M2 A i XI(Zhl) 19,200 28,620 A9,420
= 7,200
L= 3,600
= 8,400
307 QI2tol A 19,200 25,620 A6,420
= 7,200
= 3,600
= 8,400
02 glztH a8 x 19,200 0 19,200
O Z2Y dgze|Ab 1Al
1,600,000& =123 19,200
= 7,200
L= 3,600
= 8,400
Y MgZelA 7,620 0 7,620
201 ZEt2FH| 1,200 0 1,200
01 AtR2tel 1,200 0 1,200
O ZRgnR NPEE U YU+
100,000& «12& 1,200
307 2120 & 6,420 0 6,420
02 Sl2tH &8 =x 6,420 0 6,420
O dG2elAb =28 E=Hl 200,000 <128 2,400
O dg&elA 428 = 210,000 x12& 2,520
O dY22A EEXEZ 125,000& = 12& 1,500
MY 234X (2H/2Hl) 94,424 94,424 0
= 33,858
= 21,786
= 38,780
307 2120 & 94,424 94,424 0
= 33,858
& 21,786
= 38,780
10 AlRISXIEx 94,424 94,424 0
O Zz2Ag Rga N3
9,442, 4002 %1074 A 94 424
= 33,858
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SN FOI=XD
HE: ol =X 57
Sl CI=TAL SYNR (9l @2
_ _ MNuE o
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
< 21,786
= 38,780
F2AMYy 2234 X 33,000 33,000 0
307 2I2H0IF 33,000 33,000 0
RIEENEES 33,000 33,000 0
O F2AY L2ZANA(FESHASZTH)
2,5002 * 2643| * 50% 33,000
wllss 2SJ10 E2(SHI) 5,000 5,000 0
= 2,500
2 2,500
402 QI XHE 0| F 5,000 5,000 0
= 2,500
2 2,500
NEESEEES 5,000 5,000 0
O IT88 LoJlsd 22017 He=2
5,000,002 *13] 5,000
= 2,500
2 2,500
CoMBAL 2HH KR (SHI) 1,485,786 1,326,736 159,050
< 1,150,922
2 334,864
301 LPBLS 1,470,786 1,326,736 144,050
= 1,150,922
= 319,864
NREELERTE 1,470,786 1,326,736 144,050
O ColMEAs 2 X (02)
1,470,786, 00024141 1,470,786
< 1,150,922
2 319,864
401 Al&HIL 2 THY| 15,000 0 15,000
01 Al bl 15,000 0 15,000
O MEAE Uf BN X
15,000,002 14} 15,000
WIHE QA S 2 KR (SHI) 264,380 1,211,836 52,545
= 632, 190
= 252,876
2 379,314
301 LY BAS 264,380 1,211,835 52,545
= 632, 190
= 252,876
2 379,314
NREEEERTE 264,380 1,211,835 52,545
O THIH=QZXAL SHHI(HES)
1,264,380, 0002 141 264,380
= 632, 190
= 252,876
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SN ==X
XM Lol =X =X
O9l: LOI=TAlL SUK CEEE
_ _ _ HEC
2N - FHH..2A(SH) - HIEAMY - BHAS 0] AFOH loﬂ/i\_FOH Hl =2
| = 379,314
LOIZTAM SHIAYE XA (EH]) 8,760 8.760 0
= 4,380
= 4,380
307 21 2HO| A 8,760 8,760 0
= 4,380
= 4,380
02 DIFHAE X 8,760 8.760 0
O LoSX AL SEIAY|
4,380, 0002 *2Jl A 8,760
= 4,380
= 4,380
COSTAA SFREEY(TH) 824 824 0
= 412
= 412
307 212+0| A 824 824 0
= 412
= 412
02 DI HABE 824 824 0
O LOI=TIAIL SIEREH  412,0008 %20l A 824
= 412
= 412
COISTIAA AR L =X ERAL(SH) 1,040 1,040 0
= 520
= 520
307 212+O| A 1,040 1,040 0
= 520
= 520
02 DIZIHAEE 1,040 1,040 0
O LOI=TIAIA 2| 50,0002 *2H A 1,040
= 520
= 520
LOISTAMEAIR SHAS(TH]) 14,760 14,760 0
= 14,760
307 212H0| & 14,760 14,760 0
= 14,760
02 DI2FHAE X 14,760 14.760 0
O LO=XAE ZAX SEagy
984,000 * 152 14,760
= 14,760
Lo=Rsaey 36,801 39,021 A2.220
101 Q1 21H] 10,602 10,602 0
P e 10,602 10,602 0
O Lo=xs2ey 10,602
~ J=z 33,0802 * 121 %2602 8,835
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SM: FSK D
M Lol =X EX
Sl Lo=RAL RYX (e @8
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
MY 33,9802 * 124 +522 1,767
201 Lut2 | 14,580 16,800 A2,220
01 ALR 2l 2,000 2,000 0
O Lo=xsz 2y Us+gY|
1,000,008 * 23l 2,000
02 22| 12,580 14,800 A2,220
O Lo=Xs2 Z223 2 HAM32
5,280,002 * 14! 5,280
O o=xs2 2| 700,008 * 43| 2,800
O LoI=Xal2 ALBHK
1,500,008 * 33 4,500
307 212H0| & 11,619 11,619 0
VACIETE PN S 11,619 11,619 0
O CoslUmel MXK &3 & MY 24
7,000,008 * 13l 7,000
O Lo=xaa 2y 2gnd 4,619
— RS 300,0008 * 122 3,600
— RSIHH 82,0002 * 23] 164
- NP2 855,0002 * 18l 855
COlANRIEE U LOIBIXIE BOAIXIR (SHI) 8,732 8,732 0
= 4,366
2 4,366
307 212H0| & 8,732 8,732 0
= 4,366
2 4,366
02 QIAAABE 8,732 8,732 0
O oUXt2l&EE U 0I5 XI5 & orAtY 8,732
— LR HE 4,366,0002 14! 4,366
= 2,183
2 2,183
— wQIEIXIE BOAIY 4,366,008 %14 4,366
= 2,183
2 2,183
Tt Ol MR 2 772,761 748,535 24,226
= 482,654
= 23,256
= 130,621
2 136,230
HSEB THIH-Ol AAHE (23/SHI) 31,008 31,008 0
= 23,256
= 7,752
307 212H0| & 31,008 31,008 0
2 23,256
= 7,752
02 QIAAABE 31,008 31,008 0
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A FUSX
XM ZH: L
(=T BT

Chelr It MET & (el =@
_ _ MNuE o
SN CR(EH) - NRAY - BES 0il & o e HlE2
O HS=HHII=QAIAIHE
2,000&+15,504H 31,008
= 23,256
& 7,752
ERAE Lol v ATI(ZHl) 20,606 9,000 11,606
& 10,303
i 10,303
307 2I2toI ™ 20,606 9,000 11,606
= 10,303
= 10,303
02 QItF A2 X 20,606 9,000 11,606
O SZM=UARAIIDIIASE2S
89,9803 »229H 20,606
= 10,303
= 10,303
POEENHL FHEA MHLAS (EHI) 15,000 12,000 3,000
= 7,500
= 7,500
401 AIEHIL 2O Y| 15,000 12,000 3,000
= 7,500
= 7,500
01 A& HI 15,000 12,000 3,000
O RAEF=HEZINEALS
3,000,000& * 514 15,000
= 7,500
= 7,500
ol MA=EG X (<) 1,640 1,640 0
< 1,640
301 et at= 1,640 1,640 0
= 1,640
01 A 2E X =052 1,640 1,640 0
O 9BAI0la &=Ll MUXGHIA
20,0003 +82¢& 1,640
= 1,640
SHLo dads fEMES N 15,000 29,100 A 14,100
307 212+01 A 15,000 29,100 214,100
02 g2t atEx 15,000 29,100 A 14,100
O SHLe J4Net ZHAMES KR
5,000& +500H » 122 15,000
olEsSJI2MEBIAAIE (=8]) 272,531 248,811 23,720
= 190,771
= 40,880
= 40,880
307 2I2toI & 272,531 248,811 23,720
= 190,771
& 40,880
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40,880

— MblAztelt 29|

— 22|kt

JI=2MEIA A

el Xt el2d|
1,240,000& x1E« 123

H W

1,578,300& x1H x123]

H

620,000 x28H « 123

W

29,752,000& *13

H W

1,200,000& *13]

H W

600,000& 28H 13l

H M

272,531
272,531

14,880
10,416
2,232
2,232

1,579
1,105
237
237
208,320
145,824
31,248
31,248
29,752
20,826
4,463
4,463
1,200
840

180

180
16,800
11,760
2,520
2,520

248,811

e
i
Ot

S AHI A AL

W

416,976
291,883
62,546
62,547

416,976

307 212+01 A

H W

416,976
291,883
62,546
62,547

416,976

O Loss

SAEIAAE WE S

104,244 ,000& «4=2 D1

W

416,976

416,976
291,883
62,546
62,547

416,976

2,500

17,500

1,500

1,500

1,500

1,500

1,500

1,500
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SN FUST D
2 HL=XSA
SRR PELIETTE (9l & 2
_ _ _ N E
SNBSS - HRAY - BHES 01l & o4 o HIRZE2
307 212+0I & 2,000 12,000 0
= 6,000
2 6,000
05 QIR 913 12,000 12,000 0
O (&= 2 (SH) 12,000,008 %102 12,000
= 6,000
2 6,000
CIHEIDIRS AAI(ZHI) 1,000 1,000 0
= 500
2 500
201 YEr2gy| 1,000 1,000 0
= 500
2 500
03 A2 b 1,000 1,000 0
O Of4 HIOF IR AAl 1,000,0002 *13] 1,000
= 500
2 500
0i8IIEDS X 21,880 26,880 25,000
201 YEr2gy| 880 880 0
01 At 22| b 880 880 0
O DR ¥ B 83,0002 * 1042 880
307 2120l & 21,000 26,000 5,000
02 QIAAABE 1,000 1,000 0
O =Rs2ns 1,000,002 * 1904 1,000
05 QI2H 913 20,000 25,000 5,000
O o&Jlzng 20,000,0002! * 144 20,000
AMBSO Al 23| 22,600 28,600 6,000
NI HEBHYDS 22,600 28,600 6,000
201 YEr2gy| 13,000 19,000 6,000
01 At 22| b 13,000 19,000 6,000
O N 452 DS ALY
500,000 *43] 2,000
O MEESWI DS ALY 500,008 =43l 2,000
O DE2Y =TH(DW, 842 S)
5,0002 *2002 *43] 4,000
O YHBS o4 222 HME 5,000,008 5,000
301 YLrBAZ 9,600 9,600 0
10 8 AFALH] B A S 9,600 9,600 0
O YHBS M8 DS FAT A2
8,00021 +300 *43] 9,600
CPEEIEIE=F 607,974 501,583 106,391
= 3,912
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SM: F2ST D
o GlE=XE
Sl HgAAS (e @
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 Gil it o Rz
5] 218,646
= 60,732
2 324,684
CISEHH SAS BIHSA(TH) 5,000 5,000 0
= 2,500
2 2,500
307 212H0| & 5,000 5,000 0
= 2,500
2 2,500
02 BI2AYMBE 5,000 5,000 0
O HASH Sae BiE
5,000, 0002 17§ £ 5,000
= 2,500
2 2,500
0IH0IZ0IS RYFA(SHI) 10,000 3,500 6,500
= 3,000
2 7,000
307 212H0| & 10,000 3,500 6,500
= 3,000
2 7,000
02 BIAHANBE 10,000 3,500 6,500
O OI&0IZ DI2 SAF2 10,000,008 *15] 10,000
= 3,000
2 7,000
OI8Ol H0IS 2T AL 10,000 18,000 8,000
307 212H0| & 10,000 18,000 8,000
02 BIAANBE 10,000 18,000 8,000
O H&0IZOIE SA X
5,000,008 * 204 10,000
OIEXI TR Har2tal 27,480 20,200 7,280
201 Yur2 | 5,800 5,800 0
03 A2 b 5,800 5,800 0
O HESHH NSX f3& 2AH|
300,0008 * 5% 1,500
O &S NEX f3s 29
80,0002 *50% 4,000
O P& 3,00021 1002 300
301 YR A 8,680 1,400 7,280
NENTERE! 8,680 1,400 7,280
O IS #AFEA OfH|
35,0008 * 23| * 202 1,400
O &Sl 25 Al X2
7,0002 x20% #5235 7,280
307 212H0| & 13,000 13,000 0
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SM: F2ST D
o GlE=XE
Sl HgAAS (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
VACIEIE PN S 13,000 13,000 0
O HER O8THEE 2% N
13,000,000 13,000
ClE=XI Y =X 1,400 1,400 0
301 YBHE LS 1,400 1,400 0
10 SALAIHI 24 2 1,400 1,400 0
O HA=XSHBR SA FH0iY)
35,0008 * 202 * 23] 1,400
{82 BAIKIR 3,500 3,500 0
201 L2 Y| 3,500 3,500 0
03 A2t 3,500 3,500 0
O =l 2 25 U8 1,000,002 * 1A 1,000
O A=Y 500,0008 * 2% 1,000
O M2l 300,0008 * 55 1,500
C2stEN/AME 2SXA(I2) 139,000 74,000 65,000
| 97,300
= 20,850
2 20,850
307 212H0| & 139,000 74,000 65,000
| 97,300
= 20,850
2 20,850
05 QIS 3 139,000 74,000 65,000
O CH28ItE NME 2YX 2
139,000,0002! * 144 139,000
| 97,300
= 20,850
2 20,850
C2atEg2DSAY (0I2) 128,760 111,300 17,460
| 90, 132
= 19,314
2 19,314
307 212+0| & 128,760 111,300 17,460
| 90, 132
= 19,314
2 19,314
05 QIR 913 128,760 111,300 17,460
O U2l $ens A
128,760, 0002 17§ £ 128,760
| 90, 132
= 19,314
2 19,314
C2st stols = 6,400 6,400 0
307 212H0| & 6,400 6,400 0
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SM: F2ST D
o GlE=XE
Sl HgAAS (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
04 BIFBALR X 6,400 6,400 0
O G28td =X X2 6,400,0002 18l 6,400
OE2sIiE AEYARR2 X (ZH) 14,448 18,060 A3,612
= 7,224
2 7,204
301 YuHB A3 14,448 18,060 A3,612
= 7,224
2 7,204
01 APSI B B = 453 14,448 18,060 £3,612
O U23IIE AHUAZRS K&
15,0502 * 80717 * 128 14,448
= 7,224
2 7,224
Zows 29y N () 5,000 5,000 0
= 1,000
2 4,000
307 212H0| & 5,000 5,000 0
= 1,000
2 4,000
02 RIABNBE 5,000 5,000 0
O ZS#3 294l ¥ 5,000,002 %1042 5,000
= 1,000
2 4,000
C28tE 9 HASS 2 ZOHED) 2,000 2,000 0
201 Lur2 | 2,000 2,000 0
01 ALR eIt 2,000 2,000 0
O UH28tE 2 HASS ST 0HED)
20,0008 * 1007+ 7 2,000
22 29 11,200 1,200 0
201 L2 Y| 7,000 7,000 0
03 A2t 7,000 7,000 0
O G2 EAIZ 45 22 500,002 * 8= 4,000
O #AIR JITH 7 3,000,0002 * 18l 3,000
301 YA 4,200 4,200 0
10 S AMALHI 2 & 2 4,200 4,200 0
O T2ats aola|
40,0002 * 72 * 153 4,200
EQANE 25 HESANL 29 119,643 126,451 6,808
101 01214 54,503 56,331 A1,808
B EE 54,503 56,331 A1,808
O CH2st2 A2l HoR 43
40,0002 20 x50 41,600
O T2sig A2l Z2IX ol 12,923
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S FU=XD
ﬂﬂ:mgsmga
CERNESES) SEREED)
BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE =}
= T ° TNe S =S (L] 04| AFOH =S
- JIE22 35,7103 »1H*260& 9,285
- &= 35,7103 x1H +52& 1,857
— ANz2tel+=¢ 4 1473 1H25A| 2H+ 123 1,245
— HX==g 35,7103 x1H »15¢ 536
201 24 63,120 67,120 24,000
01 AR 2t el 5,820 3,820 2,000
O U2st YRR Ypr4+2H)
4,000,000 * 14! 4,000
O 2N =l 7,000& = 5& » 522 1,820
03 S Ar2 &I 57,300 63,300 26,000
O WA & 2 10,000,000& 10,000
O 84 Mg 7Y 100,000& * 8= = 52== 41,600
O #ALE IR 7 750,000 =+ 23] 1,500
O =9, 0w HMZ 100,000& » 8= *43 3,200
O JIEt UIZO0IE & 2282
1,000,000& * 14 1,000
202 o4 4l 2,000 3,000 A 1,000
01 SLHAObI 2,000 3,000 A 1,000
O U=t R=2a ol 2,000,000 * 14! 2,000
S=HMH gotel =H 4,000 4,000 0
201 24| 2,000 2,000 0
03 A2 & 2,000 2,000 0
O gotel sH 30 X& 250, 0003 *8IH 2~ 2,000
301 LB as 2,000 2,000 0
10 BAAHIEN S 2,000 2,000 0
O gotel =M FH A dAtABl Xs
20,000& » 100 2,000
S=H OtAlOF 23t 8,900 10,800 21,900
101 el Hl 3,500 4,200 A700
041N 22 NHSE+ 3,500 4,200 AT700
O 2sME &0 =3 50,0002 x7Z *10H 3,500
201 gEt=24Ed| 5,400 6,600 A 1,200
03 A2 & 5,400 6,600 A 1,200
O U=st ds=Es a8 78
350,000& 8= 2,800
O U=zst 882 72
200,000& * 8IH=+1 1,600
O HA=EE X 1,000,000& » 14| 1,000
S=M OtAlOF SAME 15,150 12,700 2,450
101 el Hl 5,250 5,600 A 350
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SN FO=XD
2 L=XSA
Sl OEAAST (25l &2
_ _ pSNE e
SA-EFH - SA(SAH) - MREAY - BES Off &F OH bﬂngﬁ Hws2
04 JAR22RE 24 5,250 5,600 A350
O HOIX 23 50,0002 72 153 5,250
201 YEr2gy| 9,900 7,100 2,800
03 A2 bl 9,900 7,100 2,800
O OHAIOF SATE ME 2
150, 00021 +7 2 %874 = 8,400
O 849,70 § 29 1,500, 00021 *14! 1,500
ClEZATAN RSN () 624 562 62
=2 312
= 156
= 56
301 YR A 624 562 62
= 312
= 156
2 156
TR 624 562 62
O OI&ZAZAK REY XY 624,008 18] 624
= 312
= 156
= 156
C2sts AaFUS0 X 17,000 18,000 A1,000
307 21201 & 17,000 18,000 A1,000
EIEIE S 17,000 18,000 A1,000
O T2, MMHl XY 3,000,008 * 47t7 12,000
O T2ty M2 224 N
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